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@ Suppose a person is interested in starting up a small espresso stand and wants to estimate how much
work it will take to make a profit. After doing a bit of research, she leams that it will cost about
5290 a month for permits plus roughly $0.61 per cup foringredients and emplovee salarv. Ifthe
selling price averages 52 80 a cup, how manv cups of coffee must our entrepreneur sell to break
even? Solve this by graphing the cost function and revenue function on the graphing calculator.

@ Approximate the solutions to the following svstems by graphing.
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@ § o/ve the 55§“bcfw\ ot e@mwﬁfM s Lj elimination,
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You decide torun a kettle com stand during the summer. You sell small bags for $3 and large bags
for $5. He can easilv count the total number of bags sold as sell as how much he eamed that dav.
On one Saturdav, he made 5881 on the sale of 209 bags of popcom. How manv of each tvpe of bag
did he sell?

A pottery studio gives 3-hour and 4-hour classes for 546 an hour. Ifthe studio collected 56394 for a
total of 39 classes, how manv of each type of class were paid for?

A somewhat surprising fact is that vou can determine the speed of a niver by traveling at a steady

pace upstream and downstream and keeping track of vour distance and time. Suppose vou and a

)
friend canoe to a campsite 12 miles up a nver in 2 hours and 24 minutles (or ZE hours). The next

-

. . 1 .
dayit takes vou 1 hour and 20 minutes (or 15 hours) toretumn. What was the speed of the niver’s

current, and what was vour boat’s speed if the water had been still?



